P () | A SIS 3 1 5% 3 20, 200
-1 0.5 %
217nf

P (R | EE T RALREI T T2 0 5 1 15, 2004
-2 & 44 A07T%
485 i

=57 #dj\//

FE )
-3

TR SR PR 1 7 99K 2 6, 400
A 0.8 %
184nf

—
_7? R=E
R R e R AR it
ﬁi&@%%
B S IR
B — 2t
WFERNERE 120m KIROFFHE T HFFEOE 180m
R ) | SEETTAEZET R L 0 5 5% 3 9, 40019 S (W) | SRR B AR AT 3 5 % 4,820/ R ) | SER TR AL 3 4 3,580
-4 A 0.5%| [-5 A 1.8 %| [-6 2% A19%
172nt 2050t 69t
@*$$iﬁ) LR
EREa
i 2R
™
=
%;5 r"““”"/ IFE
FREE{ER L
LT
AR 230m REEFIALATE 170m HILAAGS 120m
P () | EETA AT R 4 1 3 45 11,500/ | [ 7 (B | FAdiAE AT RGeS B 70 33 11, 8001 SR | SEETAE AN ER T RAL 4 8 8 5 7,230
-7 6 A34%| [-8 6 A33%| [-9 & A31%
89t 185nf 2190t
FRE R
D 2R i
< B FEzmiEE
EEHE
W RS 180m EJEA A5 80m RABREE 120m
S (W) | ST ESERT N ETH 6 3 2 % 13,900H () | ST ESEITRA TR 1 1 2% 5,040/ S () | SR RTIR RT 7 7 0 % 38, 200H
- 10 74 413nf| |- 11 15 0.4 %| |5-1 0.0 %
372nf PR H RS 1360t

Tle mFziam

TOBFFE R 1. 3km

i

R

[ e
It
S

dn

Frd it

T 450m

TR

ik |

FEIEE AT

170m




SRR | PR A IR TN 3 0 2 0
5-2  |#&1

F 7 ~MEHES

BEEE 48

WHRETS  190m

15, 40011
A3l %

167m

SEF (R | SEE T EERN NS T E i3 7 3 24, 200/
5-3 & 0.4 %
106t

A
P |
= £
£ 2
] =
= i
i T
I 1R =4
2 =& i
= = IR MREEHLIIEES
b T foti 5P EOSR

OB A 500m




